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Cuadro 9 (continuación 3)/Table 9 (continued 3)
Ecuador: tablas abreviadas de mortalidada

 Ecuador: abridged life tables 
a

1980

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.088 0.082  100 000  8 236  93 963 0.906 b 6 116 388 61.2
1 4 0.008 0.033  91 764  3 051  358 883 0.975 c 6 022 425 65.6
5 5 0.002 0.010  88 713   858  441 421 0.992 5 663 542 63.8

10 5 0.001 0.007  87 855   585  437 814 0.992 5 222 121 59.4
15 5 0.002 0.008  87 270   739  434 506 0.990 4 784 307 54.8
20 5 0.002 0.012  86 532   998  430 165 0.987 4 349 801 50.3
25 5 0.003 0.015  85 534  1 271  424 495 0.983 3 919 635 45.8
30 5 0.004 0.018  84 264  1 545  417 456 0.980 3 495 141 41.5
35 5 0.005 0.022  82 719  1 851  408 966 0.975 3 077 685 37.2
40 5 0.006 0.028  80 868  2 243  398 730 0.968 2 668 719 33.0
45 5 0.007 0.036  78 624  2 805  386 109 0.958 2 269 989 28.9
50 5 0.010 0.048  75 819  3 651  369 968 0.942 1 883 880 24.8
55 5 0.014 0.068  72 168  4 914  348 556 0.917 1 513 912 21.0
60 5 0.021 0.100  67 254  6 711  319 494 0.877 1 165 356 17.3
65 5 0.032 0.149  60 543  9 038  280 121 0.816  845 862 14.0
70 5 0.050 0.224  51 505  11 535  228 688 0.730  565 742 11.0
75 5 0.079 0.330  39 970  13 204  166 840 0.614  337 054 8.4
80 5 0.124 0.470  26 766  12 574  102 396 0.475  170 214 6.4
85 5 0.192 0.630  14 192  8 944  48 600 0.328  67 818 4.8
90 5 0.290 0.784  5 248  4 117  15 947 0.195  19 217 3.7
95 5 0.426 0.901  1 131  1 019  3 108 0.050 d  3 270 2.9

100 ω 0.693 1.000   112   112   162   162 1.4
Mujeres/Females

0 1 0.071 0.067  100 000  6 702  94 912 0.920 b 6 507 853 65.1
1 4 0.008 0.031  93 298  2 930  365 330 0.977 c 6 412 941 68.7
5 5 0.002 0.009  90 367   789  449 864 0.993 6 047 611 66.9

10 5 0.001 0.006  89 578   501  446 638 0.994 5 597 748 62.5
15 5 0.001 0.007  89 077   601  443 883 0.992 5 151 110 57.8
20 5 0.002 0.009  88 476   783  440 423 0.990 4 707 227 53.2
25 5 0.002 0.011  87 693   969  436 044 0.988 4 266 804 48.7
30 5 0.003 0.013  86 724  1 157  430 729 0.985 3 830 760 44.2
35 5 0.003 0.016  85 567  1 370  424 414 0.982 3 400 030 39.7
40 5 0.004 0.020  84 198  1 665  416 827 0.977 2 975 617 35.3
45 5 0.005 0.026  82 533  2 119  407 367 0.970 2 558 790 31.0
50 5 0.007 0.035  80 414  2 849  394 947 0.957 2 151 422 26.8
55 5 0.011 0.052  77 565  4 009  377 802 0.935 1 756 475 22.6
60 5 0.016 0.079  73 556  5 777  353 336 0.901 1 378 673 18.7
65 5 0.026 0.122  67 779  8 271  318 215 0.846 1 025 337 15.1
70 5 0.042 0.190  59 508  11 320  269 237 0.764  707 121 11.9
75 5 0.068 0.291  48 187  14 044  205 826 0.651  437 884 9.1
80 5 0.110 0.430  34 143  14 680  134 015 0.510  232 058 6.8
85 5 0.175 0.596  19 463  11 609  68 292 0.356  98 043 5.0
90 5 0.273 0.763  7 854  5 989  24 296 0.212  29 752 3.8
95 5 0.413 0.893  1 864  1 665  5 159 0.054 d  5 456 2.9

100 ω 0.672 1.000   199   199   297   297 1.5

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


